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B518.9%
(1984 \)

D4:62.8%
(6601A)

03:123%
(12870)

B5212%
(1097.A)

D4:62.3%
(3223)

03:9.8%
(507.A)

B5:28.3%
(1587.A)
D4:58.9%

(3300A\)
D3:8.6%
(a84.0)
D21.6%
(92A)
B1:0.3%
(16A)

D2:1.8%
(186A)
B1:0.4%
(420)
D0:3.8%
404\

D2:2.3%
(1194)
BL0.7%
(3a0)
B0:3.7%
193]

1224

< FifE=416 > < FifE=4.05 > < FifE=4.02 > < FifE=413 >

HEEE A

1TA—60A 61 A—200A 201 A—500A

< FfE=411 > < FiYfE=4.14 > < FfE=3.98 >

XFEHEE

1A—60A 61 A—200A 201 A—500A

< FiYfE=412 > < FfE=3.99 > < FiYfE=4.17 >

EEEEA

1TA—60A 61 A—200A 201 A—500A 501 A—

B519.5%
(673A)
04:59.9%
(2071A)
03:13.4%
(463 1)
o2:2%
(70A)
B1:0.3%

< FifE=418 > < FifE=415 > < FifE=4.01 > < FifE=413 >

BEFHHE

1A—60A 61 A—200A 201 A—500A

< FifE=425 > < FifE=419 > < FifE=4.02 >

_56_



[004)CDIBEIFZSSNRITH>TEDONTINVS,

o BEELLEBVALL., 2=F3BbhRL. 1=2<{Z53BbhKL., O=EEFTELL,

< FifE=422 >

XibfE#FEHA

1TA—60A 61 A—200A 201 A—500A

< FfE=4.05 > < FYfE=4.01 > < FYfE=4.01 >
2FHHA
1A—60A 61A—200A 201 A—500A

< FYfE=4.14 > < FfE=4.05 > < FfE=3.98 >
BEIFHME
1A—60A 61 A—200A 201 A—500A

< FifE=418 > < Fi9fE=3.99 > < FifE=4.05 >
DEFEHE
1A—60A 61 A—200A 201 A—500A

< FifE=421 > < FifE=42 > < FifE=a >

_57_



[004)CDIBEIFZSSNRITH>TEDONTINVS,

5=3<ZIR3, 4=%5385, I=ELHELVAAL, 2=F3BbLL,.  1=2<F3BHEL,  O=EFTELL,

4= 33225 -Y30 R B
1A—60A

< FifE=4.26 >

7a-n pihig 3L EREL R

1TA—60A 61 A—200A 201 A—500A

< FifE=4.09 > < FifE=4.07 > < FfE=3.99 >

AXHEREEGEWE)

61 A—200A 201 A—500A

< FifE =412 > < FifE=3.81 >

BAR- AMRZEREE

1A—60A 201 A—500A

< Fi9fE=4.08 > < FifE=419 >

_58_



[004)CDIBEIFZSSNRITH>TEDONTINVS,

5=3<ZIR3, 4=%5385, I=ELHELVAAL, 2=F3BbLL,.  1=2<F3BHEL,  O=EFTELL,

2HRHEE MERREE B XFEHREEE XLERFEFRHEE

B552.6%
(1285.A)

04:42.2%
(10290)

233.7%
(91A)

D2:0.6%
(14A)
BL0.1%

< FfEi=a.48 > < FfE=433 > < FfE=42 > < FiYfEi =447 >

R FHREREE

< FYfE=4.08 >

BAE - BAXIEAEL-HE So-nIEEt-HE

B553.1%
(1061.0)

04:42.2%
(842)

D3:3.4%
(681)

D2:04%
(8A)
B10.1%

< FHfti =449 > < FiYfti = a.46 >

_59_



[005]CDBEDEEBICENDRABHRBATHMYOT LY,

B3, 3=EBLELVZAL, 2=F53BbhAL, 1=2<ZF58bhAL, O=EEFTELL,

61A—200A 201 A—500A 501 A—

B5:304% B522% B521.4%

(1705.A) (1137A) (22420)
04:52.2% D4:52% D4:51%

(2926 1) (26870) (5357.0)
§3:12% 3:16.6% 03:17.8%

(671A) (859A) (1873A)
D2:3.8% D26.1% D2:6.4%

(213A) (3144) (675A)
DL1% DLL7% DLL7%

(56.A) (86.0) (176 A)
B0:0.6% BO:1.7% BO:1.6%

33A) 89 172

< Fi9fEi = 4.08 > < Fi9fEi-3.88 > < Fi9fE=3.85 > < Fi9fE=4.01 >

HEEE A

1TA—60A 61 A—200A 201 A—500A

< FYfE=4.22 > < FfE=3.99 > < FYfE=3.45 >

XFEHEE

1A—60A 61 A—200A 201 A—500A

< FiYfE=4.15 > < FiYfE=3.85 > < FifE=3.93 >

EEEEA

1TA—60A 61 A—200A 201 A—500A 501 A—

B5:25.1%
(868.A)
D4:51.6%
(17820)
o3:155%
(535A)
D2:4.7%
(161A)
DL1%
(330)
00:2.2%
(75

< FifE=416 > < Fi9fE=4.08 > < FifE=3.97 > < FifE=4.01 >

BEFHHE

1A—60A 61 A—200A 201 A—500A

< FifE=3.65 > < FifE=381 > < FifE=37 >

_60_



[005]CDBEDEEBICENDRABHRBATHMYOT LY,

B=EBLELVALL.,  2=F53BHRL,. 1=2<{Z53BbhKL\, O=EEFTELL,

< FifE=417 >

XibfE#FEHA

1TA—60A 61 A—200A 201 A—500A

< FfE=3.86 > < FYfE=3.72 > < FifE=376 >
2FHHA
1A—60A 61 A—200A 201 A—500A

< FfE=4.16 > < FfE=3.85 > < FfE=3.9 >
BEIFHME
1A—60A 61 A—200A 201 A—500A

< FifE-4.04 > < FifE=381 > < Fi9fE=3.86 >
DEFEHE
1A—60A 61 A—200A 201 A—500A

< Fi9fE=438 > < FifE=419 > < Fi9fE=3.99 >

_61_



[005]CDBEDEEBICENDRABHRBATHMYOT LY,

5=3<ZIR3, 4=%5385, I=ELHELVAAL, 2=F3BbLL,.  1=2<F3BHEL,  O=EFTELL,

4= 33225 -Y30 R B
1A—60A

< FifE-=4.2 >

7a-n pihig 3L EREL R

1TA—60A 61 A—200A 201 A—500A

< FYfE=4.08 > < FiYfE=3.81 > < FfE=3.65 >

AXHEREEGEWE)

61 A—200A 201 A—500A

< FiYfE=4.23 > < FifE=3.63 >

BAR- AMRZEREE

1A—60A 201 A—500A

< Fi9fE=3.96 > < FifE=3.91 >

_62_



[005]CDBEDEEBICENDRABHRBATHMYOT LY,

5=8<ZESR3. 4=%585,

B=EBBELLAHELY,

2=F3BHIL,

1=8<ZF3BHEL,

O=EETEAL,

2HRHEE

B5:49.6%
(1210A)

04:39.5%
(964.A)

D38.1%
(197A)

o22%
(48A)
BL0.5%

MERREE B

X

MEEEE

XLERFEFRHEE

< FifE=436 >

< FifE=453 >

< Fi9fE=42 >

< FfE=45 >

R FHREREE

< FiYfE=3.85 >

BAE - BAXIEAEL-HE So-nIEEt-HE

< FiYfE=437 >

< FYfE=434 >

_63_




[006]CDIBEIIBLE/EINTIVS,

B3, 3=EBLELVZAL, 2=F53BbhAL, 1=2<ZF58bhAL, O=EEFTELL,

61 A—200A 201 A—500A 501 A—

B5:26.9%
(2822)

04:56.2%
(5898.\)

03:123%
(12950)

B5:306%
(1583.A)

04:54.7%
(2833A)

03:104%
(5390)

B5:36.5%
(2044 )
D4:52.1%

(2920\)
03:9.2%
(516A)
D2:1.4%
(78A)
B1:0.4%
(201)

D2:2.5%
(2610)
DL1:08%
(790)
00:1.4%
1474

o2:2%
(1044)
BL0.7%
(3a0)
DO:1.6%
83

25\

< FifE=4.24 > < FifE=414 > < FifE=4.07 > < FifE=415 >

HEEE A

1TA—60A 61 A—200A 201 A—500A

< FHfE=431 > < FYfE=4.23 > < Tt = 4.08 >

XFEHEE

1A—60A 61 A—200A 201 A—500A

< FYft=4.27 > < FiYfti=4.24 > < FHfE=4.23 >

EEEEA

1TA—60A 61 A—200A 201 A—500A 501 A—

B5:27.8%
(961A)
D4:54.7%
(1893.A)
o3:12.7%
(438A)
o2:2.2%
(77A)
BL0.6%
(220)
00:1.9%
67

< FiYfE=4.24 > < FifE=4.26 > < FifE=4.09 > < FifE=415 >

BEFHHE

1A—60A 61 A—200A 201 A—500A

< FifE=4.09 > < FifE-4.04 > < Fi9fE=3.96 >
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[006]CDIBEIIBLE/EINTIVS,

B=EBLELVALL.,  2=F53BHRL,. 1=2<{Z53BbhKL\, O=EEFTELL,

< FifE=4.26 >

XibfE#FEHA

1TA—60A 61 A—200A 201 A—500A

m524.7%
(608.A)
04:60.2%
(1482.0)
D3:11.4%
(281A)
D219%
(470)
B1:0.9%
(21A)
B0:1%
(240)

< Tt = 4.05 > < FHfE=4.03 > < FiHfE = 4.07 >
2FHHA
1A—60A 61A—200A 201 A—500A

< FiYfti =438 > < FYfE=4.18 > < FiHfE = 4.07 >
BEIFHME
1A—60A 61 A—200A 201 A—500A

< FifE=421 > < FifE=4.02 > < Fi9fE=3.92 >
DEFEHE
1A—60A 61 A—200A 201 A—500A

< FifE=427 > < FifE=435 > < FifE=421 >

_65_



[006]CDIBEIIBLE/EINTIVS,

5=3<ZIR3, 4=%5385, I=ELHELVAAL, 2=F3BbLL,.  1=2<F3BHEL,  O=EFTELL,

4= 33225 -Y30 R B
1A—60A

< FifE=432 >

7a-n pihig 3L EREL R

1TA—60A 61 A—200A 201 A—500A

< FifE=4.23 > < i =414 > < FiYfE=4.04 >

AXHEREEGEWE)

61 A—200A 201 A—500A

< FiYfEi-4.41 > < FiYfE=3.72 >

BAR- AMRZEREE

1A—60A 201 A—500A

< FifE=421 > < Fi9fE=434 >

_66_



[006]CDIBEIIBLE/EINTIVS,

5=3<ZIR3, 4=%5385, I=ELHELVAAL, 2=F3BbLL,.  1=2<F3BHEL,  O=EFTELL,

2HRHEE MERREE B XFEHREEE XLERFEFRHEE

B5:60%
(1464 \)

04:34.9%
(851A)

D3:3.8%
(93A)

D2:0.9%
(21A)
B1:0.2%

< FifEi=a54 > < FYfE=a67 > < FfE=42 > < FiofE-4.8 >

R FHREREE

< Fi5fEi=3.96 >

BAE - BAXIEAEL-HE So-nIEEt-HE

B5:60.1%
(12000)

04:35.5%
(708.A)

D3:3.5%
(700)

D2:0.6%
(12A)
B10.1%

< FiYfEi =455 > < FiYfti = 4.48 >

_67_



[007]ZDEBEDARICEKNETS,

B3, 3=EBLELVZAL, 2=F53BbhAL, 1=2<ZF58bhAL, O=EEFTELL,

61A—200A 201 A—500A 501 A—
B5335% B5235% B5:22.9%
(1876 1) (12170) (2403 1)
04:49.8% 04:49.1% 04:49.8%
(2789.0) (25410) (5223)
03:118% 3:18.6% 3:18%
(664A) (964.A) (18890)
D2:3.6% D2:6.2% D2:6.3%
(199A) (3214) (660A)
DL1% DL13% DL19%
(57.0) (69.0) (201A)
00:0.4% B0:1.2% B0:1.2%
20A) 62A) 1220
< FifE-412 > < Fi9fEi-3.88 > < Fi9fEi=3.86 > < Fi9fEi=3.01 >
A%
HEEE A
1A—60A 61 A—200A 201 A—500A

< FiYfE=454 > < FiYfE=3.94 > < FYfE=3.57 >

XFEHEE

1A—60A 61 A—200A 201 A—500A

< FYfE=4.09 > < FYfE=3.96 > < FifE=3.89 >

EEEEA

1TA—60A 61 A—200A 201 A—500A 501 A—

B5:25.4%
(879A)
04:50.7%
(1753.A)
03:16.7%
(576 A)
D2:4.2%
(1440)
D1:14%
(48 1)
0O:1.6%
(55

< FifE=414 > < Fi9fE=3.99 > < Fi9fE=3.96 > < FifE=3.91 >

BEFHHE

1A—60A 61 A—200A 201 A—500A

< Fi9fE=3.98 > < Fi9fE=3.94 > < Fi9fE=363 >

_68_



[007]ZDEBEDARICEKNETS,

B=EBLELVALL.,  2=F53BHRL,. 1=2<{Z53BbhKL\, O=EEFTELL,

< FifE=415 >

XibfE#FEHA

1A—60A 201 A—500A

< FfE=3.94 > < FifE=3.74 > < FfE=3.84 >
2FHHA
1A—60A 61A—200A 201 A—500A

< FYfE=4.08 > < FYfE=3.88 > < FifE=3.82 >
BEITHEHHE
1A—60A 61A—200A 201 A—500A

< FifE=4.07 > < FifE=376 > < FifE=371 >

HEFEHEA

1A—60A 201 A—500A

< FigfE=42 > < Fi9fE=438 > < Fi9fE=3.96 >

_69_



[007]ZDEBEDARICEKNETS,

5=3<ZIR3, 4=%5385, I=ELHELVAAL, 2=F3BbLL,.  1=2<F3BHEL,  O=EFTELL,

4= 33225 -Y30 R B
1A—60A

< FifE=4.26 >

7a-n pihig 3L EREL R

1TA—60A 61 A—200A 201 A—500A

< FYfE=4.19 > < FiYfE=3.84 > < FiYfE=3.83 >

AXHEREEGEWE)

61 A—200A 201 A—500A

< Tt = 4.09 > < FHfE=3.74 >

BAR- AMRZEREE

1A—60A 201 A—500A

< Fi9fE=3.96 > < FifE=3.66 >

_70_



[007]CDBEDOARICEKNE TS,
5=3#<{Z5B3, 4=%F5B5, B8=EBLLBLZEL,
LHRHEE HEHEEEE XEHEHEE XL EREFEEEE

2=F3BHEL,  1=2<F3BHEL,  0=EFTELL,

B5:414%
(1010A)
D4:42.9%
(1047.0)
03:121%
(296 M)
D2:2.6%
(63A)
BL0.5%
(130)
00:0.4%
10A)

< FifEi=4.2 > < FiYfti =457 >

< FifE=423 > < FifE=453 >

R FHREREE

< FiYfE=4.04 >

BAE - BAXIEAEL-HE So-nIEEt-HE

< FHfE =419 > < FYfti=4.41 >

_71_



[008]-DIBED BN ERETES,

B3, 3=EBLELVZAL, 2=F53BbhAL, 1=2<ZF58bhAL, O=EEFTELL,

61A—200A 201 A—500A 501 A—
B531.7% B5:201% B519.2%
(17750) (10394) (20210)
D4:54.1% 04:56.7% 04:55.7%
(3033A) (29310) (58510)
03:11.2% 03:16.4% 03:17.4%
(628A) (848 A) (18290)
D2:2.1% D2:4.3% D2:4.9%
(116 A) (2214) (518A)
BL0.6% DL12% D1:1.4%
(31A) (61A) (152A)
00:0.4% B0:1.4% B0:1.2%

130A;

23\ (73]

< FifE=415 > < FifE=3.91 > < FifE=3.87 > < FifE=4.02 >

HEEE A

1TA—60A 61 A—200A 201 A—500A

< =435 > < FfE=3.98 > < FifE=3.66 >

XFEHEE

1A—60A 61 A—200A 201 A—500A

< FiYfE=4.15 > < FfE=3.89 > < FifE=3.93 >

EEEEA

1TA—60A 61 A—200A 201 A—500A 501 A—

B5221%
(764.0)
04:57.3%
(1980.\)
o3:15%
(517A)
D2:2.9%
(1014)
DL1%
(35A)
BO:1.7%
(59N

< FifE=416 > < FifE=4.05 > < Fi9fE=3.98 > < FifE=4.02 >

BEFHHE

1A—60A 61 A—200A 201 A—500A

< FifE=415 > < Fi9fE=3.96 > < FifE=371 >

_72_



[008]-DIBED BN ERETES,

B=EBLELVALL.,  2=F53BHRL,. 1=2<{Z53BbhKL\, O=EEFTELL,

< FifE=414 >

XibfE#FEHA

1A—60A 201 A—500A

< FYfE=3.97 > < FiYfE=3.83 > < FifE=3.82 >
2FHHA
1A—60A 61 A—200A 201 A—500A

< FYfE=4.13 > < FifE=3.87 > < FYfE=3.86 >
BEIFHME
1A—60A 61 A—200A 201 A—500A

< Fi9fE=4.08 > < FifE=385 > < Fi9fE=3.86 >

HEFEHEA

1A—60A 201 A—500A

< FifE=43 > < FifE=423 > < Fi9fE=3.99 >

_73_



[008]-DIBED BN ERETES,

5=3<ZIR3, 4=%5385, I=ELHELVAAL, 2=F3BbLL,.  1=2<F3BHEL,  O=EFTELL,

4= 33225 -Y30 R B
1A—60A

< FifE=4.26 >

7a-n pihig 3L EREL R

1TA—60A 61 A—200A 201 A—500A

< FiYfE=4.15 > < FYfE=3.91 > < FfE=3.69 >

AXHEREEGEWE)

61 A—200A 201 A—500A

< F9fE=4.06 > < FfE=3.65 >

BAR- AMRZEREE

1A—60A 201 A—500A

< Fi9fE=3.89 > < Fi9fE=3.94 >

_74_



[008]-DIBED BN ERETES,

5=3<ZIR3, 4=%5385, I=ELHELVAAL, 2=F3BbLL,.  1=2<F3BHEL,  O=EFTELL,

2HRHEE MERREE B XFEHREEE XLERFEFRHEE

B551.7%
(1257A)
D4:42.8%
(1041.A)
03:4.4%
(107A)
D2:0.9%
(21A)
DL0%

< FYfE=4a.46 > < FYfEi=a4 > < FYfEi=a4 > < FiYfEi =457 >

R FHREREE

< FYfE=4.08 >

BAE - BAXIEAEL-HE So-nIEEt-HE

B5519%
(1033A)

D4:42.8%
(852A)

03:4.2%
(83A)

D2:0.9%
(18A)
B1:0.1%

< FYfti = a.46 > < FHfti = a.46 >

_75_



[009]CDIBEISHMFIFEZ T TN,

5=#CE5R3, 4=%3B5, 3=ELLEBVLALL.  2=F53BDAL,  1=2LE53BHAL, O0=EETEAL,

61 A—200A 201 A—500A 501 A—

B521%
(22020)
04:50.5%
(5300\)
03:19.5%
(2043)
D26%

B522.2%
(1148\)

D4:51.2%
(2650 )

03:18.5%
(957A)

B5:33.6%
(1885.A)

04:49.5%
(2778 N)

03:12.7%
(715A)
D2:2.9%
(161A)
BL:0.9%
(49A)
00:0.4%
20\

o25.2%
(270A)
D1:1.4%
(750)
B0:1.4%
(74

(627.1)
D118%

(186.A)
B0:1.3%

1414

< FifE=413 > < FifE=3.89 > < FifE-3.84 > < FifE=3.87 >

HEEE A

1TA—60A 61 A—200A 201 A—500A

< FyfE=452 > < FfE=3.98 > < FifE=3.66 >

XFEHEE

1A—60A 61 A—200A 201 A—500A

< FfE=4.16 > < FfE=3.98 > < FifE=3.93 >

EEEEA

1TA—60A 61 A—200A 201 A—500A 501 A—

B523.7%
(820A)
04:49.6%
(17120)
03:19.1%
(660A)
D2:4.4%
(153A)
D1:1.4%
(490)
00:1.8%
(61

< FifE=415 > < FifE=4.01 > < FifE=3.91 > < FifE=3.87 >

BEFHHE

1A—60A 61 A—200A 201 A—500A

< Fi9fE=3.94 > < FifE=3.86 > < FifE=357 >

_76_



[009]CDIBEISHMFIFEZ T TN,

B=EBLELVALL.,  2=F53BHRL,. 1=2<{Z53BbhKL\, O=EEFTELL,

< FifE=413 >

XibfE#FEHA

1TA—60A 61 A—200A 201 A—500A

< FfE=3.96 > < FYfE=3.78 > < FifE=3.81 >
2FHHA
1A—60A 61 A—200A 201 A—500A

< FfE=4.16 > < FifE=3.87 > < FiYfE=3.78 >
BEIFHME
1A—60A 61 A—200A 201 A—500A

< FifE=4.03 > < Fi9fE=374 > < FifE=3.66 >
DEFEHE
1A—60A 61 A—200A 201 A—500A

< FifE=4.06 > < FifE=4.24 > < Fi9fE=3.98 >

_77_



[009]CDIBEISHMFIFEZ T TN,

5=3<ZIR3, 4=%5385, I=ELHELVAAL, 2=F3BbLL,.  1=2<F3BHEL,  O=EFTELL,

4= 33225 -Y30 R B
1A—60A

< Fi9fE=4.28 >

7a-n pihig 3L EREL R

1TA—60A 61 A—200A 201 A—500A

< FYfE=4.19 > < FYfE=3.88 > < FiYfE=3.81 >

AXHEREEGEWE)

61 A—200A 201 A—500A

< FHfE=411 > < FYfE=3.74 >

BAR- AMRZEREE

1A—60A 201 A—500A

< Fi9fE=3.93 > < FifE=376 >

_78_



[009]CDIBEISHMFIFEZ T TN,
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§3:13%
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< FfE=418 > < FYfE=a67 > < FfE=42 > < FYfEi - 4.67 >
REIFEHREEE

< FYfE=4.08 >
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D2:3.5%
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DLL5%
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< FifE=422 > < FifE=4.07 > < Fi9fE=3.94 > < FifE=3.97 >
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1A—60A 61 A—200A 201 A—500A

< FifE=4.03 > < FifE=375 > < FifE=377 >
DEFEHE
1A—60A 61 A—200A 201 A—500A

< FigfE=42 > < FifE=414 > < Fi9fE=3.94 >
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D4:42.8%
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03:9.9%
(2410)

D2:2.9%
(70A)
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(16A)
B0:0.1%
EZN

< FfE=4.26 > < FfE=a.47 > < FfE=42 > < FiofE-4.6 >
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< Fi9fEi-3.88 >
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< FYfti=4.24 > < FYftE=434 >
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